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Branch 4 Quiz 1

1) Here are four numbers. (2 marks)i
|
|

5 0.65 3 60.5% |
7= = |
8 5 //FHS CUrrec:fi
v For imista K
Write these numbers in ascending order.
S _p.628 = 62-5%
g

] - S

E._u =O- - 65 = &S

%_ = 0.6 = 60%

3) AEC and BED are straight lines.
Show that the triangle BEC is an isosceles

triangle.
Give a reason for each stage of your working.
A B
700C >k
D C

ReEC =70° Vertically, oppasite
(;Lx’\&Lo_-',.\ afe tha sc ‘
i . e B oo o o Y
ERC = 180 -(70155) =S8
H(\ij(ﬂj\ iNs\Ce o \r\u(\(‘ju ﬂ(_tml \&O°
T isescaldn as Hooo anclen are
the cervia - =
Answer:

4) There are only red, green, pink and blue
counters in a bag.

Colour Red | Green | Pink | Blue

02 |01 0.25

Probability

a) Work out the probability of selecting a pink
counter. (0.2 10| 026 J1 mark)
= o s ng-
Answer: = o -GS

b) There are 250 counters in the bag.
Work out the number of red counters in the

C-2 oF 200 =4O
bag. 0.2 Se oo =70 (2 marks)
G.2 of SO=10
Answer: SO
Q Topic z RIA|GE

1 | Fractions, Decimals &
Percentages

2 | Expand and Simplify

3 | Angle Problem

4 | Probability

c) Expand (1 mark)
4(x — 3) {]

Answer; G o -1 ‘/ |

d) Expand and simplify (2 marks) |
(m +3)(m = 5) |

|

[m]-5 |
g = |

o / AR MZ-Smt3mI¢)
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Branch 4 Quiz 2

(3 marks)

i, ¥
9 3
Give your answer as a mixed number

| 3) Calculate the size of the angle x.

P
2) This is a square.

3x+8cm

Work out the length of one side of the square.
/ N SIU-

= Roc t+ § Y3t €

5 (x-2)

v

(2 marks)
Give your answer to 1 decimal place.

4) Jack askscf?:is class how many pets they have.
ik

Frequency

0 i 2 3
Number of pets

is results are shown in this bar chart. el
O00CS iV zz222 233333 <

) Find the mode number of pets. (1 mark)§

Answer; | pet /

b) Find the median number of pets.
543 +4 1‘63+ G = Z—I_I/

) e
Rersens = 2 7;‘ Answer: !

-3 -~ B

2oc —\0 =

Topic z

4+ o

Four Rules of Fractions

2 2o =
"7_:%“

n')L'( -

Form and Solve Equations

Right Angled Trigonometry

Answer:

Averages
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a) The price of a TV is £320.
In a sale the price is reduced by 18%

Calculate the sale price.

feikhed )
1% :32 e )Ur

Branch 4 Quiz 3

(2 marks)

e —18%e

= 82%¢ =o-8¢ .
r\fudh el

i"f =
8% =

\0 82 x 320
T Ll

VED G o K b(

o -57-60 /Answer 26-2 S

jZea Ly ©

b) What percentage of this shape is shaded?

(2 marks)

l 2) 2x+3 =11
-3 =3

2o =R

:cq/

Answer:

i 8

= &}

(2 marks)

2x=8x

s

T

Answer:

=Ny

3) The diagram shows a square and a circle.
Work out the shaded area. (3 marks)

g
Area Crcla = MTxrt=I6T =
Anaded A = &G — SO - 3>-l3>~7

Answer: |2 7cmt

4) 60 students in took part in a survey on whether
they walk to school or not
27 students were boys.
Boys said yes and no to walking to school
in the ratio of 7:2
46 students said yes to walking to school.
Complete the frequency tree. (3 marks)

b g 5 N B \M__,JI

NEE] 272923
3% 1= 2!

Topic

g da? = 100

L{f

x “= 'Z,S/ L/

(2 marks)

ot =) &

Answer:

9 K — Sﬁ
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